DUNCAN EXPORT MODELS DA 820-6F,~6G,-65

CONTROL PANEL PARTS

I gg % | /
. NO.  DESCRIPTION

NO .
2 ku 323 2t TWER (24?/120/)

3 M WER RELAY (240/2

RN T G, e

5. KE 322 §8 STAR WASHER

8. KE 333 $6-32 HEX NUT

I N RN

3. KM 342 820,1020/29 CORD REUEF

9. KE 307 §8-32 X'1 1/4 MACHINE SCREW

10. KE 329 2 HEX NUT W,

11. KE 096 2 POLE TERMINAL

12 KC 309 STATDARD BUSS BAR ASSEMBLY

13, KC 319 U-~TERMINAL ASSEMBLY

14, KE 315 §10-32 X 1/7 TAMPERPROOF SCREW
15, KE 324 $10-32 HEX NUT W/WASHER

18 K 309 SWITCH

17. KM 363 LD SWITCH MOUNTING KIT

18 KE 060 INSULATOR

bl T STt WL N (2:o/nov)
20.

21) K4 362 CAPACITOR st 32
nmxnro_nsan)m WIRE, 18 GAUGE
23, KC ___ 10" CONNECTING WIRE, 18

24, KC 190 6,8 WIRE COMBO, 18

25, KC 131 14 (3&om WIRE, 18 GAUGE]
26 KC 194 ASSEMBLY

27. KC 138 #(23om) CONNECTING WRE, 12 GAUGE
28, 4 089 e 0HZ

20. KC 178 1£(250m) CONNECTING WIRE, 12 GAUGE
30, KC 150 & ) GROUND WIRE

31. KC 160 10°(25cm) CONNECTING WIRE, 16 GAUGE
32 KC 177 r‘gwem) CONNECTING

33 KC 138 14 (36om) CONNECTING WIRE, 12 GAUGE
36 KE mr—r&uuum

35, KE 101 BLOCK

36, XC 081 DIELECTRIC INSULATION FOR KE 101

37, KC .__ & CONNECTING WIRE,

3a. io4 387 3 POSMON

©OOO00Q ¢ é%@ 0 © g

0 QJ 19
\

ELECTRICAL SCHEMATIC

AN
I
]
[
T

\
N

_]
F
\

I

o )
PLUG
[(NEUTRAL

50 HZ

220/240VAC




